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Name: __________________________________



1
In the accompanying diagram of circle O, the measure of [image: image1.png]


 is 64º.

[image: image2.png]



What is [image: image3.png]ms RTS



?

	1)
	32

	2)
	64

	3)
	96

	4)
	128



2
In the accompanying diagram of circle O, [image: image4.png]


.

[image: image5.png]



What is [image: image6.png]m/ ABC



?

	1)
	210

	2)
	105

	3)
	95

	4)
	75



3
In the accompanying diagram of circle O, the measure of [image: image7.png]LEIM



 is 38º.  What is the number of degrees in the measure of [image: image8.png]


?

[image: image9.png]




4
In the accompanying diagram, [image: image10.png]BA



 is a diameter and [image: image11.png]


.  Find [image: image12.png]m CBA



.

[image: image13.png]




5
In the accompanying diagram of circle O, [image: image14.png]


.  What is [image: image15.png]m/ ABC



?

[image: image16.png]&)





6
The new corporate logo created by the design engineers at Magic Motors is shown in the accompanying diagram.

[image: image17.png]



If chords [image: image18.png]BA



 and [image: image19.png]BC



 are congruent and [image: image20.png]


, what is [image: image21.png]


?

	1)
	40

	2)
	80

	3)
	140

	4)
	280



7
The NUK Energy Company is designing a new logo, as shown in the accompanying diagram, with [image: image22.png]


 and [image: image23.png]


.

[image: image24.png]%

Ly,
0
Q




What is the measure of [image: image25.png]LENU



?

	1)
	50°

	2)
	65°

	3)
	80°

	4)
	100°



8
In the accompanying diagram of circle O, [image: image26.png]msABC = 2x



 and [image: image27.png]+60




.  Find the value of x.

[image: image28.png]




9
In the accompanying diagram, [image: image29.png]MABC



 is inscribed in circle O and [image: image30.png]AB



 is a diameter.

[image: image31.png]



What is the number of degrees in [image: image32.png]


?

	1)
	30

	2)
	45

	3)
	60

	4)
	90



10
In the accompanying diagram, isosceles triangle ABC is inscribed in circle O with diameter [image: image33.png]AOE



.  Find [image: image34.png]ms AR



.

[image: image35.png]<





11
In the diagram below, circle O has [image: image36.png]msABC =z



.  What is [image: image37.png]ms AOC



?

[image: image38.png]



	1)
	z

	2)
	2z

	3)
	[image: image39.png]




	4)
	[image: image40.png]






12
In the accompanying diagram of circle O, [image: image41.png]AB



 and [image: image42.png]BC



 are chords and [image: image43.png]msAOC = 96



.  What is [image: image44.png]m/ ABC



?

[image: image45.png]



	1)
	32

	2)
	48

	3)
	96

	4)
	192



13
In the accompanying diagram of circle O, [image: image46.png]msAOC = 108



.

[image: image47.png]



What is [image: image48.png]m/ ABC



?

	1)
	27

	2)
	54

	3)
	108

	4)
	216



14
In the accompanying diagram of circle O, [image: image49.png]msACE = 38



.

[image: image50.png]



What is [image: image51.png]ms AOR



?

	1)
	19

	2)
	38

	3)
	52

	4)
	76



15
In the accompanying diagram of circle O, the measure of [image: image52.png]ZABC



 is 42º.  What is the total number of degrees in the measure of [image: image53.png]ZAOC



?

[image: image54.png]




16
In the accompanying figure of circle O, [image: image55.png]msAOC = 52



.  Find [image: image56.png]m/ ABC



.

[image: image57.png]7





17
An angle inscribed in a circle measures 80 degrees.  What is the number of degrees in the intercepted arc?

18
In a circle, an inscribed angle intercepts an arc whose measure is [image: image58.png](14x-2)°



.  Express, in terms of x, the number of degrees in the measure of the inscribed angle.

19
In the accompanying diagram of circle O, [image: image59.png]AD



 and [image: image60.png]BC



 are diameters.  Which statement is not true?

[image: image61.png]



	1)
	[image: image62.png]




	2)
	[image: image63.png]




	3)
	[image: image64.png]




	4)
	[image: image65.png]ms1







1
ANS:
1
REF:
019717siii

2
ANS:
2
REF:
080127siii

3
ANS:


76
REF:
019401siii

4
ANS:


65
REF:
010202siii

5
ANS:


50
REF:
080203siii

6
ANS:
1

[image: image66.png]


.  Equal chords intercept equal arcs.  If [image: image67.png]mBC =140,



 then [image: image68.png]


  [image: image69.png]mAC =80 (360 - (140 +140)).



  The measure of an inscribed angle is half that of its intercepted arc.  So [image: image70.png]



REF:
080107b

7
ANS:
1

[image: image71.png]190%
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REF:
080803b

8
ANS:


20
REF:
010406siii

9
ANS:
4
REF:
010115siii

10
ANS:


45
REF:
010009siii

11
ANS:
2
REF:
fall9914b

12
ANS:
2
REF:
060802b

13
ANS:
2
REF:
089818siii

14
ANS:
4
REF:
010318siii

15
ANS:


84
REF:
089302siii

16
ANS:


26
REF:
069902siii

17
ANS:


160
REF:
060003siii

18
ANS:


[image: image72.png](Tx—1)°




REF:
069507siii

19
ANS:
4
REF:
089414siii


